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-ES MM 385,000& 324 12,320
-HEH 10,780, 0002 »4CH 43,120
-EMHEX 1,430,000& »4CH 5,720
—-PULSE 286,000& 324 9,152
-2EIED| 214, 5003 *4H 858
-3t &g 2 XID| 357,500& »4CH 1,430
JtAH2E A 1,430,000 44 5,720
401 Al HI L 2 THHI 55,290 0 55,290
01 A& tl 54,750 0 54,750
OFEZLSTE B3 A 50,000,000 =14l 50,000
OSt&E g 2te LI (S, REX)
4,750,000& =14 4,750
03 Al 2 THHI 540 0 540
OFEZIEE B AL AIE 208
50,000,000& *1.08/100 540
405 TtobH S| 3,760 0 3,760
01 AL EZFH S 3,760 0 3,760
O=sstadd Meds g 3,760
-gstZs AL 600,000 = 1CH 600
- AMAEDI 360,000& = 1CH 360
-gr A XS H A Ol 2,800,000 = 1CH 2,800
SIEALLIIA (2F) 880,000 0 880, 000
2 440,000
< 220,000
Al 220,000
401 AIEHI L 201 880,000 0 880,000
= 440,000
= 220,000
Al 220,000




AN 0= X0t
Y Lo=2X SH(AEEX/ L0 - FHad)
el HRA X CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
01 A& HI 880,000 0 880,000
O&E=Z HE=2(471) 880,000,000 =14 880,000
= 440,000
< 220,000
Al 220,000
I EXNSA (A EXN/FHSEHSKA) 38,030,274 35,926,257 2,104,017
= 18,749,227
< 4,443,857
Al 14,837,190
O =XNXA 2,442,673 2,188,403 254,270
= 200,545
< 300,398
Al 1,941,730
WEAMD ALHdH 28 2 0ISKAG(EX) 100,000 56,000 44,000
< 20,000
Al 80,000
307 21201 A 100,000 56,000 44,000
= 20,000
Al 80,000
11T AISI S XA E X 100,000 56,000 44,000
OusSAD HIoH A &MY & 0lsX3ALS
100,000, 000& 100,000
< 20,000
Al 80,000
ZOHeI=X X 1,245,095 1,122,555 122,540
201 L2l 116,995 126,235 AQ,240
01 At 22l 115,040 124,280 A9,240
O1.Ler==&H| 6,600
-ZHI=EXNS R LEr=2H| 1,800,000& 1,800
~&Zofel s EXE 2
2,000& =1,000H 2,000
“HOMHAUFISHS & HHAUMET EE B2
2 OME 900,000 900
“HOHQUEH 2B AN EEM M
30,000& 30K 900
“ZOHCIEHOAIE AINMEHE S8 BES AH
1,000, 000& 1,000
03.2g8=¢ 6,720
“HEXY MolflE HALg
70,0003 7 »123] 5,880
“HOHoly NOlPIE HAaY
70,000 x6H »23] 840
O5.=2 &l 2,520
“HOIYSE OFAI2LT 24
7,0003 3 +10L 128 2,520
O6.8xt=z 99,200




2N
X ZH -
L= B

el

ol OH el = Xt
ZHA=SXNSE(AMI=SX/HAAHNENE)
FOA=SX R

SA - BB B () - MM - BES Ol &t o San HmEET
“HOHQAEH AARA A3 79,200
A - SOFEOCNE 3
1,300, 000& «20H A~ % 12& 31,200
EEPNESESJI RelR="Fei] 1,100,000& =128 13,200
CEHEMALE 700,000& x12& 8,400
AXEE S 500,000& 123 6,000
ZOHAR 23 1,000,000& »12& 12,000
CHHURZ2S 700,000& 123 8,400
“HHRRE MRA UYXEEI
20,000,000& 20,000
02 =24l 1,955 1,955 0
O1.332=LHA 1,955
-0 MBI ABUEZE DIAMNSE S
fEZ 1,955
2 Bt 3003 +350=+12& 1,260
=Pl 1,930&+30=+12& 695
202 O4dl 3,240 4,320 A1,080
01 = LHA YI 3,240 4,320 A1,080
OZOMA=SX 2= 04|
60,0003 *3H 3 63 3,240
207 A&y 10,000 0 10,000
01 2284 10,000 0 10,000
OLLHMO BYDSALY L 2Ygot( 2
g =Y 10,000, 000& 10,000
301 gt L= 34,400 24,600 9,800
09 SALAHIEA S 14,400 13,800 600
O&He Foe & J1g84 I I
60,000& *40H 2,400
OEXZOIS & JI8HA FIH0HI
60,000& *30H 1,800
OXofel = & & JIsZJIUa ZEFIto bl
60,0003 x20H x4 4,800
OMES=HEXO0 otetEs &Il
60,000& *35H 2,100
OXOHQI CIHU A M & HESWE &I
=]l 60,0003 x5H 300
OXOHACHH L& - SAXR A3 FIHOHI
60,0003 259 +23| 3,000
1MIIEBESS 20,000 10,800 9,200
OFMHAEHAAE AHZAIRA AHI24
50,0003 22 2003 20,000
307 21201 A 1,080,460 911,400 169, 060
03 QIZtHNHE2HHEX 227,960 215,000 12,960
OFMHA=XIEAl 2EHI 60,000,000& 60,000
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AN 0= X0t
M DONQU=NET(ASIZST/HAANESTH)
Sl FOjeIS T X CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
QXS & 18 L LB AH(AISHRAEA})
25,000,000& 25,000
OZESNASI ZUHAAE M
60,000,000 60,000
OXMZOH Atslstn = 15,000, 000& 15,000
OZOMQl LXtelAred (el 2l)
300,000 2108 +7& 441,000
OusS T HMEH=H 29 40,000,000& 40,000
OHATMY L IIE S 4304 29
15,000, 000& 15,000
OOMEMe Ngus(EMA 25) Y
15,000, 000& 15,000
OZMAMSEMO s&EcldH 29
35,000,000& 35,000
OZoet4 ot3tolol 22 18,000, 000& *23| 36,000
OH8=sZY BdU=sE 23
40,000,000& 40,000
OZoHel drelAE X2l 300,000 «20H 62 36,000
TR EOHQI B Ol Al & HIE 29 (25 ) 102,000 102,000 0
= 17,000
Al 85,000
307 21201 A 102,000 102,000 0
< 17,000
Al 85,000
11T ALSI S XAEE = 102,000 102,000 0
OXHMEHAEHAANLHAEHEZZE 102,000,000 102,000
< 17,000
Al 85,000
A2ZOHl ST 22 (BX) 188,720 188,720 0
< 56,616
Al 132,104
307 glz2tol & 188,720 188,720 0
< 56,616
Al 132,104
11T M SRASE EX 188,720 188,720 0
OA2AZHeIeSrSAALAEHSE 188,720,000 188,720
< 56,616
Al 132,104
ANHZOHAX AL SH (BX) 109,433 106,672 2,761
< 21,833
Al 87,600
307 21201 A 109,433 106,672 2,761
= 21,833
Al 87,600
11T MISAASEX 109,433 106,672 2,761
OXNEHZHAXNJAEH 24 109,433, 000& 109,433




AN 0= X0t
M DONQU=NET(ASIZST/HAANESTH)
&S HHA=SX XA (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
== 21,833
Al 87,600
TN E A ZRIAY (B X) 54,400 50,400 4,000
< 28,600
Al 25,800
307 glz2tol & 54,400 50,400 4,000
< 28,600
Al 25,800
11T M SRAISE EX 54,400 50,400 4,000
OZ U= At 2 el At 54,400,000& 54,400
< 28,600
Al 25,800
ZONCIIIEXNHAHSI(BX) 192,000 181,000 11,000
< 99,840
Al 92,160
307 glz2tol & 192,000 181,000 11,000
< 99,840
Al 92,160
11T MISRASEX 192,000 181,000 11,000
OHOMeIIEXNAEH2HA 192,000, 000& 192,000
< 99,840
Al 92,160
ZHUN SN RMESY (2 E) 35,000 25,580 9,420
< 7,000
Al 28,000
307 21201 A 35,000 25,580 9,420
< 7,000
Al 28,000
11T AR SXAIEE = 35,000 25,580 9,420
OHUMUIEFESXNJAAEHZ2H 35,000,000& 35,000
< 7,000
Al 28,000
AZEEONOI OFOFANIF I AFS (2 ) 250,680 186,628 64,052
2 200,545
< 15,040
Al 35,095
307 glz2tol & 250,680 186,628 64,052
=2 200,545
< 15,040
Al 35,095
11T M SXASEEX 250,680 186,628 64,052
OAIZHZH0H QI OFOFALIIEA AL 250,680, 000& 250,680
= 200,545
< 15,040
Al 35,095
AN ETLNAME 22 (2F) 50,000 40,000 10,000




2N
X ZH -
L= B

el

ol OH el = Xt
ZHA=SXNSE(AMI=SX/HAAHNENE)
FOA=SX R

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 10,000
Al 40,000
307 2iz2to| A 50,000 40,000 10,000
= 10,000
Al 40,000
11T AISIEXAIEEX 50,000 40,000 10,000
OXAFNE HAEKSNAMEY 2
50,000,000 50,000
& 10,000
Al 40,000
CIHBEIO 0 oIAALE Y OSXIME 2IH(EX) 30,000 13,100 16,900
& 7,300
Al 22,700
307 2iz2to| & 30,000 13,100 16,900
= 7,300
Al 22,700
11T AISIEXAIE EX 30,000 13,100 16,900
OLlgHEe oA A O|SKNJALMH 29
A& 30,000,000 30,000
& 7,300
Al 22,700
eI A S SRK/MH(EXR) 80,000 80,000 0
== 16,000
Al 64,000
307 2Iz2to| & 80,000 80,000 0
== 16,000
Al 64,000
11T A EXAIEEX 80,000 80,000 0
O&elA=sSNNIAMEHEH 80,000,000 80,000
= 16,000
Al 64,000
HHUSNHMSLR AN (2F) 4,345 0 4,345
< 869
Al 3,476
202 04d| 4,345 0 4,345
& 869
Al 3,476
04 =Ml st0d dl 4,345 0 4,345
O EXNEESL M X 4,345,000 4,345
= 869
Al 3,476
SOIISYAFSIIXRA (B F) 1,000 0 1,000
= 300
Al 700
307 212t0| & 1,000 0 1,000
= 300




2N
X ZH -
L= B

el

ol OH el = Xt
ZHA=SXNSE(AMI=SX/HAAHNENE)
FOA=SX R

SN P SA(EN) - MBAY - BES

0l &t o

=

i
2

Al

700

OsotaE So4ds XA

1,000,000&

= N

1,000

1,000

300
700

1,000

= HmnH

19,019,117
12,931,367
1,622,976
4,464,774

18,418,

687

600,430

ot HEXNZXNJA(EX)

= N H

822,752
575,930

74,047
172,775

1,039,

226

N216,474

=z MW

822,752
575,930

74,047
172,775

1,039,

226

N216,474

822,752,000&

= M W

822,752
822,752

575,930
74,047
172,775

1,039,

226

A216,474

= MW

9,610
4,805
1,441
3,364

,308

302

= W

9,610
4,805
1,441
3,364

,308

302

9,610,000&

=z N H

9,610
9,610

4,805
1,441
3,364

,308

302

= MW

34,200
17,100

5,130
11,970

30,

858

3,342

402 QI2tXt=01 ™

= MW

34,200
17,100

5,130
11,970

30,

858

3,342

<
o
rJ
>
r
>
©Q
HT
A

O
OF
=]
i
021
2
e
I
Je
FA
=
R

34,200,000

o

34,200
34,200

17,100
5,130

30,

858

3,342

_20_




2N
X ZH -
L= B

el

ol OH el = Xt
ZHA=SXNSE(AMI=SX/HAAHNENE)
SV Relps 3= el SN

SN P SA(EN) - MBAY - BES

0l &t o

=

i
2

11,970

ZOH AR (Ex)

= W

274
220

38

6,787

A6,513

= W

274
220

38

6,787

A6,513

01 MBI 2EHH %0

OZOH QI XA SHHI X &

=]
oy

274,000

=z N H

274

274
220
16
38

6,787

N6,513

18,103

5,431
12,672

18,103

H

Al

18,103

5,431
12,672

18,103

18,103,000&

= M

18,103

18,103

5,431
12,672

18,103

= MW

10,040
8,032
602
1,406

10,759

AT19

Z MW

10,040
8,032
602
1,406

10,759

AT19

10,040,000&

= W

10,040

10,040
8,032
602
1,406

10,759

AT19

Z W

1,401,664
876,164
112,651
412,849

1,338,204

63,460

= HnH

1,401,664
876,164
112,651
412,849

1,338,204

63,460

1,401,664

1,338,204

63,460




2N
X ZH -
L= B

el

ASISX/HAHNSXH)
2

= - - SHE]|
CEB . (S) - A - BAS O &t 04 e 2
OZM=ZX& (=) 1,401,664,000& 1,401,664
= 876,164
< 112,651
Al 412,849
ORI (HaA) () 836,860 1,052,965 A 216,105
= 585,801
= 75,317
Al 175,742
301 L2 A F 836,860 1,052,965 A 216,105
= 585,801
= 75,317
Al 175,742
01 AL EE 563 836,860 1,052,965 A 216,105
OZOM=Z X2 (X&) 836,860,000 836,860
= 585,801
< 75,317
Al 175,742
ZOHQIAZHIXA(EX) 366,445 234,913 131,532
= 293,156
< 21,985
Al 51,304
301 et a3 366,445 234,913 131,532
= 293,156
< 21,985
Al 51,304
01 A3l EE E =56l = 366,445 234,913 131,532
O&OClelZHl K& 366,445,000 366,445
= 293,156
< 21,985
Al 51,304
oHels XL Xtel At (B X) 440,544 408,095 32,449
= 220,272
< 66,082
Al 154,190
307 2Izt0l A 440,544 408,095 32,449
= 220,272
< 66,082
Al 154,190
11 AISISAAISEE = 440,544 408,095 32,449
O =K LAl AL 440,544 ,000& 440,544
= 220,272
== 66,082
Al 154,190
ZOHQI LB AR ARG (B X) 828,598 761,346 67,252
= 414,299
< 124,290
Al 290,009

- 22 -




2N
X ZH -
L= B

el

Off &t 24

=
i

2

= N H

828,598
414,299
124,290
290,009

761,346

04 J12tNM 2 2 Xt

= M W

828,598

828,598
414,299
124,290
290,009

761,346

67,252

= W

5,349,033
3,744,322

481,414

, 123,297

4,853,320

495,713

= W

5,349,033
3,744,322

.

481,414

, 123,297

4,853,320

495,713

5,349,033,000&

= 0 H

,349,033

5,349,033
3,744,322

481,414

, 123,297

4,853,320

495,713

0

= N H

8,797,143
6,158,001

633,394

,005,748

8,504,190

292,953

= M W

8,797,143

»

, 158,001

633,394

,005,748

8,504,190

292,953

8,797,143,000&

=z N W

> 0 |

, 797,143
, 797,143
. 158,001

633,394

,005,748

8,504,190

292,953

= M W

2,206
1,544
198
464

19,233

A17,027

e
T
H
0>

= M W

2,206
1,544
198
464

19,233

A17,027

e
e

g
pa|
o

2,206,000

2,206

2,206

19,233

A17,027

_23_




2N
X ZH -
L= B

el

SN P SA(EN) - MBAY - BES

Off &t 24

=
i

2

= Hn

T.544
198
464

= M

57,400
17,220
40,180

82,000

A 24,600

H

Al

57,400
17,220
40,180

82,000

A 24,600

57,400,000&

57,400

57,400

17,220
40,180

82,000

A 24,600

= Hn W

10,000
7,000
900
2,100

15,000

A5,000

= M W

10,000
7,000
900
2,100

15,000

A5,000

01 M3 2 &=
ol
el

L1
> 0U
=
010
~
{0
>
11

10,000,000&

= MW

10,000

10,000
7,000
900
2,100

15,000

A5,000

= N W

7,500
6,000

450
1,050

7,500

307 glztol &

= W

7,500
6,000

450
1,050

7,500

OLLIHL JHSANY A &

6,000,000

O2EHM dH=A5HEXH S

1,500,000&

= MW

= H W

7,500
6,000

4,800
360
840

1,500
1,200
90
210

7,500

= M W

14,400
10,080
1,296
3,024

26,880

A 12,480
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2N
X ZH -
L= B

el

ol OH el = Xt
ZHA=SXNSE(AMI=SX/HAAHNENE)
SV Relps 3= el SN

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
301 et d = 14,400 26,880 A 12,480
= 10,080
< 1,296
Al 3,024
01 MEI2EZE %06z 14,400 26,880 A 12,480
OFolEs 224elagXA 14,400,000& 14,400
= 10,080
= 1,296
Al 3,024
ESZNAESEXINMSH(EIRHA)(BX) 12,345 0 12,345
= 8,641
< 1,112
Al 2,592
301 et 4= 12,345 0 12,345
= 8,641
< 1,112
Al 2,592
01 MEIBEE 253 12,345 0 12,345
OZSHMHAESERIAS0 (B H)
12,345,000& 12,345
= 8,641
< 1,112
Al 2,592
ZOHIAIE X & 16,568,484 15,258,014 1,310,470
= 5,617,315
< 2,520,483
Al 8,430,686
ZOHAAIE XA 240,360 260, 360 220,000
101 @124 dl 38,800 38,800 0
4 JI2ZHHZ22XEES 38,800 38,800 0
OFML =sSXA MG (oditel &E) 38,800
] 200,000& »20H «9& 36,000
-28 & 23 140,000& »20H 2,800
201 Let2d] 5,520 5,520 0
01 At 2teltl 5,520 5,520 0
O1.4et=2H| 3,000
“ZOHCIAIE Y R Bt 3,000,000& 3,000
O5.=2 &l 2,520
“HOMHAANEGRFE OFA2RLN =4
7,000 «3x10€ «12& 2,520
202 Odl 3,240 3,240 0
01 =LHOIHI 3,240 3,240 0
OFZOMAAIE HR=A0H|
60,0003 *3H x32 +63] 3,240

_25_




AN 0= X0t
FH: ZASNSI(MSISX/HLHEXH)
S HOHAAEX A (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
301 et d = 12,800 12,800 0
01 MI2ZE+5l= 12,800 12,800 0
OXFMU=XAAE 2=2(0t2l0tE 2 18IHA)
20,0003 320 #23| 12,800
307 glz2tol & 170,000 190,000 220,000
10 AL SXNAIEEE2EH EX 22,000 42,000 220,000
OOl F2AH2SAIE 2HHI(MHLAIA)
10,000,000& *1JH £ 10,000
OFO HF=AE E8LEH XA
1,500,000 *8H A 12,000
11T M SRAISE EX 148,000 148,000 0
OMASHEMR = - HIESANE 082 XA
50,0003 *x70H «12& 42,000
OZOMASXAIE 215 018X K&
3,000,000& 3,000
OFel HE=2=2E 2 70,000,000& =14 & 70,000
OHe Ols==xed 22 16,500,000 =204 33,000
401 AIEHI L 2 0] 10,000 10,000 0
01 A& Hl 10,000 10,000 0
OZSSEA ZHAHEHAAIL &=
10,000, 000& * 14 10,000
ZOASRAE SAL =2(EX) 592,320 574,279 18,041
< 118,464
Al 473,856
307 21201 A 592,320 574,279 18,041
< 118,464
Al 473,856
10 ALSISXAIEEER2IHEX 592,320 574,279 18,041
OHUMUA=XAIE SAKTE 592,320,000 592,320
< 118,464
Al 473,856
ZOHCIHZ=AIE 20| =3 MASH(EX) 600,000 500,000 100,000
= 540,000
< 42,000
Al 18,000
301 et d = 600,000 500,000 100,000
= 540,000
< 42,000
Al 18,000
01 MI2EZE 406z 600,000 500,000 100,000
OZOMAANFAIE D=2 X HAHSO
600,000,000& 600,000
= 540,000
= 42,000
Al 18,000
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SN QIF 0Nl = XDt
FH: ZASNSI(MSISX/HLHEXH)
Sl FOjQIAIA K (B9 ®R)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ZUAHF=ALERS(EX) 7,253,306 6,719,438 533,868
= 5,077,315
< 652,797
Al 1,523,194
307 gl2tol & 7,253,306 6,719,438 533,868
= 5,077,315
< 652,797
Al 1,523,194
10 AL SXAIEEE2EH EX 7,253,306 6,719,438 533,868
OFHMLUNFAE2S 7,253,306, 000& 7,253,306
= 5,077,315
< 652,797
Al 1,523,194
ZUAHF=ALH0SHAAUS(ER) 5,000 4,000 1,000
< 1,500
Al 3,500
307 21201 A 5,000 4,000 1,000
< 1,500
Al 3,500
11T MISRASEX 5,000 4,000 1,000
OO AHNF=AIE0IEBA AHWSE 5,000,000 5,000
< 1,500
Al 3,500
NI MEALHEIAXIRE(BX) 31,980 30,680 1,300
< 9,594
Al 22,386
307 21201 A 31,980 30,680 1,300
= 9,594
Al 22,386
11T AL SXAEE X 31,980 30,680 1,300
OZOHOIMEAIL MU AKX 31,980,000 31,980
< 9,594
Al 22,386
ZOUAHIIHF=AIE 2E(EX) 531,790 461,191 70,599
< 106,358
Al 425,432
307 glz2tol & 531,790 461,191 70,599
< 106,358
Al 425,432
OMBIETALEHE2ZHIES 531,790 461,191 70,599
OZOMAINHFAELR2SE 531,790,000& 531,790
= 106,358
Al 425,432
ZUSSHEIIERI(BEX) 415,200 376,891 38,309
< 83,040
Al 332,160
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AN 0= X0t
M DONQU=NET(ASIZST/HAANESTH)
S HOHAAEX A (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 415,200 376,891 38,309
< 83,040
Al 332,160
10 ALl SXAIEEE 2 H EX 415,200 376,891 38,309
OZMAZSSHUEIER2S 415,200,000& 415,200
< 83,040
Al 332,160
ZUoIF=2AESAE 2Y(EX) 1,064,000 686,000 378,000
< 212,800
Al 851,200
307 glz2+ol & 1,064,000 686,000 378,000
< 212,800
Al 851,200
10 ALSISXAIEEE2EHEX 1,064,000 686,000 378,000
OZMF=2AHESAL2H 1,064,000, 000& 1,064,000
< 212,800
Al 851,200
3 SHHH 2L (EX) 247,000 221,210 25,790
< 41,990
Al 205,010
307 2I2+0 & 247,000 221,210 25,790
< 41,990
Al 205,010
10 AL SXNAIEEE2EHEX 247,000 221,210 25,790
O=xstEsddH2g 247,000, 000& 247,000
< 41,990
Al 205,010
SO SSANLQLAS SN (BX) 29,831 29,831 0
= 8,949
Al 20,882
307 glz2tol & 29,831 29,831 0
< 8,949
Al 20,882
10 AL SXAIEEE2EH EX 29,831 29,831 0
OS2 SE4EAESIH 29,831,000& 29,831
= 8,949
Al 20,882
SO MENAMEH 2Y(2F) 166,825 156,825 10,000
< 33,365
Al 133,460
307 21201 A 166,825 156,825 10,000
= 33,365
Al 133,460
10 AL SXAIEEE2GHEX 166,825 156,825 10,000
O=SZMHANEXNIMMEH 2 166,825,000 166,825
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AN 0= X0t
FH: ZASNSI(MSISX/HLHEXH)
Sl FOjQIAIA K (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 33,365
Al 133,460
ZOIAREME 2F(EX) 379,447 355,341 24,106
< 75,888
Al 303,559
307 Q12+0| & 379,447 355,341 24,106
< 75,888
Al 303,559
10 AL SXAIEEE2EH EX 379,447 355,341 24,106
OFMMESHH2Y 379,447,000 379,447
< 75,888
Al 303,559
dEENCAS 29(BX) 307,000 283,333 23,667
< 92,100
Al 214,900
307 glz2tol & 307,000 283,333 23,667
= 92,100
Al 214,900
10 ALSISEXAIEEE2EHEX 307,000 283,333 23,667
OB=2ENEA22E 307,000,000 307,000
< 92,100
Al 214,900
DO MNATHEANE RS (EX) 1,959,616 1,683,826 275,790
< 360,569
Al 1,599,047
307 21201 A 1,959,616 1,683,826 275,790
< 360,569
Al 1,599,047
10 M2 SXNANEHE2IHEX 1,959,616 1,683,826 275,790
OHMIHNSHEANELR2SH 1,959,616,000& 1,959,616
< 360,569
Al 1,599,047
T EESSAMLRNE(EX) 35,000 35,000 0
S 8,750
Al 26,250
307 glz2tol & 35,000 35,000 0
< 8,750
Al 26,250
10 AL SXAIEEE 2 H EX 35,000 35,000 0
OZMASE2S AL 35,000,000& 35,000
= 8,750
Al 26,250
Z0HC TIOIEXSAME 29 (2X) 104,095 104,095 0
< 20,819
Al 83,276
307 21201 A 104,095 104,095 0
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AN 0= X0t
M DONQU=NET(ASIZST/HAANESTH)
S HOHAAEX A (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
== 20,819
Al 83,276
10 ALSISXAIEEE2EHEX 104,095 104,095 0
OHOMATHIM=EXNSAMMHSE 104,095,000 104,095
< 20,819
Al 83,276
HAZONQ IACSOITAAL (2 E) 50,000 50,000 0
< 7,500
Al 42,500
307 21201 A 50,000 50,000 0
< 7,500
Al 42,500
10 ALSISXAIEEE2IHEX 50,000 50,000 0
OGIE RO JFANE O/ TH2 A
50,000,000& 50,000
< 7,500
Al 42,500
NS END 2Y(2F) 1,680,000 1,860,000 180,000
< 35,000
Al 1,645,000
307 21201 A 1,680,000 1,860,000 A 180,000
< 35,000
Al 1,645,000
05 RIZt2IEt = 1,680,000 1,860,000 180,000
OZSAIZMHASEEXN22E 950,000,000 950,000
S 17,500
Al 932,500
OZFANESRYEMAESE=SN22Y
730,000,000 730,000
= 17,500
Al 712,500
SAAFHA=XZSY(2X) 865,714 865,714 0
= 606,000
Al 259,714
307 gl2tol & 865,714 865,714 0
< 606,000
Al 259,714
05 BIZHRI & 3 865,714 865,714 0
O AIZEeI=N22Y 865,714,000 865,714
< 606,000
Al 259,714
ZHUMBAILE AR NYMSHAINA(2E) 10,000 0 10,000
< 3,000
Al 7,000
301 et d = 10,000 0 10,000
< 3,000
Al 7,000
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